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QUESTION 1

Which two statements about FortiADC logs are true? (Choose two.)

A. They can be stored on FortiCloud.

B. They can be uploaded automatically to an FTP server.

C. Only logs with seventy level equal to or greater than that configured log Severity level are generated.
D. They can record events related to security features.

Correct Answer: CD

QUESTION 2

Which two configuration actions are possible when protecting application delivery servers from clients with IP addresses
in the IP reputation database? (Choose two.)

A. Automatically create a WAF profile based on the traffic
B. Redirect the traffic to a different URL

C. Block the traffic.

D. Analyze the traffic using WVS rules

Correct Answer: BC

QUESTION 3

Which are two advantages of TCP multiplexing? (Choose two.)

A. it reduces the number of TCP sessions that the server

B. it allows FortiADC to balance a client TCP connection among multiple servers

C. A new client connection does not need to wait for a new FortiADC-to-server connection
D. It reduces the number of TCP sessions that clients need to establish

Correct Answer: AB

QUESTION 4

An organization has decided to automate specific tasks by leveraging the fortiADC REST API. The tasks will perform
updates to existing items. Which REST API method should you use to update existing items on FortiADC?

A. PATCH
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B. POST

C.GET
D. PUT

Correct Answer: D

QUESTION 5

Which two actions can FortiADC take with the GeolP block list when receiving requests from a blocked country\\'s
address space? (Choose two.)

A. Deny access

B. Redirect the request

C. Apply an HTTP protocol constraint
D. Send a 404 Not Found message

Correct Answer:. AB
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